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Two flat parallel plates are d = 0.40 cm apart. The potential difference between
the plates is 360 V. The electric field at the point P.at the center is approximately

a. 90 kN/C b. 3.6 kN/C ¢c. 0.9kN/C d. zero e. 36x 1O°N/C

. If a capacitor of capacitance 2.0 uF is given a charge of 1.0 mC the potentla! diff ererce across -
the capacitor is .

a. 0.50 kv b. 20V ' c. 2.0 uVv
d. 0.50V e. none of these. -

. You want to store 10'° excess electrons on the negative plate of a capacitor at 9.0 V. How
large a capacitance must you use?

a. 0.014 pF b. 0.18 pF c. 0.18nF d. 14 pF - e b6pF

. A parallel-plate capacitor has square plates of side 8.0 cm separated by 0.80 mm. 1If you
charge this capacitor to 15 V, the amount of charge transferred from one plateto the other is

a. 711 nC b. 7.1 nC c. 1.1pC - d 114nC e. 11 pC

. A coaxial cable consists of a wire of ractius 0.30 mm and an outer conducting shell of radius
1.0 mm. Hs capacitance per unit length is approximately

a. 17 nFim b. 0.11 nF/m ¢c. 92pFHm d. 23 pFim e. 46 pF/m

. The capacitance of a parallel-plate capacitor

a. is defined as the amount of work reqquired to move a charge from cne plate to the other.
b. decreases if a dielectric is placed between its plates.

¢. is independent of the distance between the plates.

d. has units of J/C. '
e

. is independent of the charge on the capacitor.

. When you insert a piece of paper (x = 3.7) into the air between the plates of a capacitor, the
capacitance

increases.
decreases.
does not change.

could increase, decrease, or not chrange depending on the dielectric constant of the paper.
does none of these. |
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Two identical capacitors A and B are connected across a battery, as shown. If
mica (x = 5.4) is inserted in B, _

a. both capacitors will retain the same charge.

B will have the larger charge.

A will have the larger charge.

the potential difference across B will increase.

the potential difference across A will increase.
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if a dielectric is inserted between the plates of a parallel-plate capacitor that is connected to a
100-V battery, the :

a. voltage across the capacitor decreases.

electric field between the plates decreases.

electric field between the plates increases.

charge on the capacitor plates decreases.

charge on the capacitor plates increases.
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A parallel-plate capacitor has squar'e plates of side 12 cm and aseparation of 6.0 mm. A
dielectric slab of constant x = 2.0 has the same area as the plates but has a thickness of 3.0
mm. What is the capacitance of this capacitor with the dielectric slab between its plates?

a. 28 pF b. 21 pF c. 16 pF d. 37pF e 53pF

If you increase the charge on a parallel-plate capacitor from 3 uCto 9 uC and increase their
separation from 1 mm to 3 mm, the energy siored in the capacitor changes by afactor of

a. 27 b. 9 c. 3 . d.8 e. 113

You attach a 30-pF capacitor across a 1.5-V battery. How much energy is stored in the
capacitor? j

a. 34x10"11d b, 45x10"MJ c. 6.7x101J d. 34x108J e 45x 108y
You charge a 4.0-uF capacitor to 150 V. How much additional energy must you add to charge
it to 300 V? ' |

a. 0.60mJ b. 0.14J c. 18ud d. 0.30mJ e. 028J
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You connect three capacitors as shown in the diagram. The effective
capacitance .of this combination when C 4 =5.0 pF, C2=4.0 yF, and
Ca5= 3.0 pyF is approximately

a. 0.44 uF b. 2.3 puF c. 35uF d. 5.2uF e 12uF

15. The charge on each capacitor in a set of capacitors in parallel is

a. directly proportional to its capacitance.  b. inversely proportional to its capacitance.
¢. independent of its capacitance. : d. the same.
e. none of these.

16. You connect two capacitors C; = 15 pF and C, =30 pF in seriesacross a 1.5V battery. The
potential difference across capacitor C, is approximately

a. 050V b. 1.0V ¢c. 15V d. 0.33V e. 067V

17. A 1.0-yF capacitor and a 2.0-uF capacitor are connected in series across a 1200-V source.
The charge on each capacitor is

a. 0.40mC b. 0.80 mC ¢c. 1.2mC .~ d. 18mC 8. 3.6 mC







